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Use the given information to find the value of x.
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For #13 — 14, please find the circumference and area of each circle.
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e \eng’rh/arcumécxcmc » One iime arpund +ne circle
15. The outside horse of a carousel travels a distance of 81.64 feet in one revolution. What is the
diameter of the carousel?
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16. The radius of a tire on a car is 10.5 inches. A car begins to roll down a hill and the tires revolve 5
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times before being stopped. How far did the car travel? O Circumference
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17. Find the Ie gth of CD. Round your answer to the nearest hundredth.
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18. Find the area of the shaded sector ABC. Round your answer to the nearest hundredth.
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19. Please find the circumference of G)Q Round your answer to the nearest hundredth.
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20. Please find the radius of@A given that the area of the shaded sector BAC is 395.64 mm?
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21. The chain of a bicycle travels along the front and the rear sprockets. The radius of each sprocket
is shown. About how long is the chain which goes around the entire figure?
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22. The diagonal of one kite is three times as long as the other diagonal. If the area of the kite is

121.5 in?, please find the length of each diagonal.
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23. Find the area of the figure below. Round to the nearest hundredth. i
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24. What is the perimeter of the figure in question 97
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Answer Key
1. 48 units® J/ 7.378in%V/ 13.C~37.7 cm, A=113.04 cm2/19. 7537¢em v
2.224 units’V 8. 192 units’ V4 14. C~62.8 ft, A~314 2V 20.18 mm v/
3. 160 units®/ 9. 75 m%/ 15.26 ft / 21.44.51in
4.120 units?/ 10. 303.6 unitsv/ 16.329.7in vV 22.9inand27in vV
5.81 units’v  11.4cm vV 17.12.56 units 23.1342 m?

6.270 units’y/ 12.6ft vV 18.426.73 m*/ M. BhLm



